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1 (a) Draw the free hand sketches of the flont top and the rlght side view of L

~ the plCtOl ial view showi in Fxg I(a). All dlmensmns are m mm.-

_ - Fig. 1(a) B
. Or

(b) A circle of 50 mm diameter rolls clockwise on a horizontal line for half a
o revolution and then on a line inclined at 60° to-the horizontal for another _
half a revolution in the same direction. Draw the curve traced by a point .
P on the circuniference of the circle, taking the top-most point on the
: . rolhng cucfe as the initial posmon of the genel atlng pomt ‘
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~ of V.P. Draw the projections of the line and find the mchnatlons with H.P
and V.P by mtatmg line method : :

o)

The front vie{v of the line AB of length 70 mm is inclined at 30° to ‘xy" line
and measures 45 mm. The end A is 20 mn above H.P and 25 mm.in front

'Ort'

A 1egu1a1 pentagonal lamma of 30 mm base edges rests on one of 1ts

corners on H.P. Draw its plOJectxons when the surface of the plate makes
60° with H.P, and the ‘top view. of the. dzagonai passing thmugh that-

_cmnel on H.P makes 45° w1th V. P
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@ .
- on its base on the H.P. with two edges parallel.to the V.P, It is cut by a
section plane, perpenchcular to the V:P. which is inclined at 45° to the

()
SR helght 70 mm rests on its base on H.P with a'base edge parallel to V.P..
"It is cut by a plane pe1pend1cu1a1 te V.P mchned at 45° to. H P and

®

Or -

A cylindei of base  diameter 30 mm and axis 70 mm long has.its . ..
. ',cyhnducal end that'is mchned at 30° to V.P. Draw its pm]ectlons when o
' -_'the fx.ont vmw of the axis 19 pal alle] ta the 1efe1ence hne S R

A pentagonal pusm 30 mm s1de of base.and axis 70 mm long is 1estmg on
. one of its edges of the base, In such d way that the base makes an angle-
- 0f40° with ILP. Draw the projections if the axis is parallel to V. P. ‘

A hexagonail i)ylamui 'base 30 'm'm 31de and axis 65 inm long, is resting

H.P. and intersecting the axis at a point 25 mm above the base. Draw the .
» - front view, sectmnal top view, sectional suie view and t1ue shape of the

- sectlon

"Or

A cone of base diameter 60 mm and helght 70 mm is restmg on its base

on the ground. It'is cut by a plane pelpendlcular to the V.P. and parallel -
to the H.P. at the distance 20 mm from the vertex. It is also cut by a
plane inclined at 40° to the base and meeting the axis at a point 20 mm
-above base. Draw the development of the lateral surface of the cut cone.

Draw the isometric view of a hexagonal pyramid of base side 30 mm and -

meeting the axis at 40 mm from the base.
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‘A 1ectanglitlai' pylan.nd" of mdéé 0f" base 30 min x 20 mm and height

40 mm rests with its base on the ground such that one of the longer base

2 N - | ._.2‘520(?

: edges is par allel to the picture plane and 15 mm behind it. The observer

" is 50 mm in front of the picture plane, 25 mm to the left of the axis of the
 pyramid-and 50 mm above the ground Draw the pe1 spectwe view of the
A pyranud : : : :



